} é::? @ f addition av brak (samma nimnare)

namn: Datum: Poéng:
6 3 5 3
— 4+ = = — 4+ - =
7 7 8 8
5 1 4 4
— 4 - = -4 — =
3 3 6 6
1 5 7 7
9 9 9 9
6 3 3 2
7 5 5
| 5 5
5 5 7
72 3 5
6 6 2 2
3 7 1 4
T4+ l= l— + - =
4 4 5 5
3 1 3 4
12+ - = Tyl
4 4 6 6
7 1 4 5
— 4+ - = — 4 - =
6 6 7 7
3 5 1 1
— 4+ = — 4 — =
8 8 5 5
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} é? @ ? addition av brak (samma nidmnare)

namn: Datum: Poéng:

6 3 9 2 5 3
—+=—==-=1= -+ —-=1
7 7 7 8 8
5 1 4 4 4 1
—+=-=2 —F+ —=—=1=
3 3 6 6 3 3
1 5 2 7 7 14 5
—+ — = —+—=—=1-
9 90 3 9 9 9 9
6 3 9 2 3 2
—t+t-_==-=1= —+-=-=1
7 7 7 5 5
1 2 3 5 5 10
—_+Z == 4+ =_=1=
5 5 5 7 7
7,2_3_,1 3,34
6 6 2 2 2 2
3 7 5 1 1 4
—t+ —=_=92_ — 4+ — =
4 4 2 22 15 5 2
3 1 3 4 7 |
— 4+ — = —_—t = =1-=
14 4 2 6 6 6 16
7 1 4 1 4 5 9 2
—+—-==-=1= —+=—===1=
6 6 3 3 7 7 7
3 5 1 1 2
— 4+ —-=1 _ - = —
8 8 5 5 5
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